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1 9 0 5 8 7 9

9 6 7 5 8 9 6 1 0 6 3

9 7 0 8 4 0 3 4 2 6 5 8 7 9

0 1 5 1 9 8 9 6 1 8

4 3 6 0 8 9 8 7 9 6 8 7

1 2 4 7 0 3 0 8 3 0 2

0 3 5 2 4 8 9 7 1 6 1 2

5 9 4 6 1 0 7 9 5

0 9 0 1 7 8 5 9 4 6 2 3

2 7 8 1 2 2 5 8 4 6 9

4 1 7 9 4 8 1 8 2 0 2 7

1 6 0 1 7 7 1 0 0 1

0 5 6 8 7 3 4 9 1 9 4 7 5 8

3 4 9 8 2 8 0 3 2 0 1

0 7 1 0 4 1 9

The grid may be filled as in a typical "Cross Sums" or Kakuro puzzle, with the difference that
zero may be used.  This is necessitated, in fact, by the 10-digit horizontal entries and the 2-digit
entries totalling 1.

If one considers "only the pair"s in the grid (reading horizontally), they may be transcribed into
letters as shown below, for the final answer LILY PADS.
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